
���� ��� ����� ���� ���������� ������������ ���������� 

����������� �������� �������� � �������� �� p(D)x = Aert �� ����� �� 
rt e

xp = A � �� ���� �� p(r) = 0� 
p(r) 

�

��� ���� ���������� ������ ���� p(r) = 0� � �������� �� p(D)x = Aert 

tert 
�� ����� �� xp = A � �� ���� �� p�(r) = 0� 

p�(r) 
�

�� ������� ��� �������� �� ��� ���� 

�� ������� ��� � ������������������� ������ ������ ������� ��� ������ �� 
������� �� ��� �������� mẍ+ bẋ+ kx = ky� ���� x �������� ��� �������� �� 
��� ����� y �������� ��� �������� �� ��� ����� ��� �� ��� ������� ��� x = y 
���� ��� ������ �� �������� 

�� �� ���� ������� ������ y(t) �� ��� ����� ������ ��� x(t) �� ��� ������ 
��������� ���� m = 1� b = 3� k = 4� y(t) = A cos t� ������� ��� ����� 
������ �� � ������� ����������� ycx �� ����� �� �� ��� ���� ����� ��� ��� ��� 
����������� �������� ������� �� ������� ��� ����������� �������� ������� 
������ �������� zp� ������� H ���� ���� zp = Hycx� H �� ��� ������� ����� 
���� |H| ��� φ ���� ���� H = |H|e−iφ� ��� ���� ����������� �� ������� 
��� ���� ��� ��� ����� ��� �� ��� �������� ������� ���� �� ��� ������ ����� 
��������� �� ��� ��������� �� ��������� �� ��� ���� ������� ���� �� ���� ���� 
��� ��������� A �� ��� ������ �� ��� ��� ��� �� ��� ������� 

�� ���� ��� ���������� �������� �� ẍ− x = t2 + t + 1� 

�� ���� � �������� �� ẍ + 4x = cos(2t) �� ���������� �� ��� ��� ��� �� � 
������� ������������ 
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